Q12 * Mathematik m1 * Lo6sungen zu Ausfgaben aus dem Buch

S.W//? {(\4\—’ %3 & Byt te e

(((\U‘: Ixt+ 28 x +c {"(x)“ Ex +2¢4

wp: {'Gleo &  fre-2t & x,=-%

& e “(y,)=0 & 3-5+zz-(—f)+c=o
~eum ({' s ( wp 3 3

L
) ;;.-f.,41+c=o () -§£l+c=0

& 'el‘:.gc

5. S'V.(o {. )= x3 - ax‘+a
a, {"(K)‘ Ixt-Jax .("'(x)e Cx - la
(*I(X)‘O (-") X({x—la)‘o &) ,;:o XL:___

if(o]= -la D (o/n) u+ flo? f.. ado
(ofn) isd TIP = afo

{'(ba) = ba-locla B (Fo/a-Fol) i TP £ ade

Wit

{ ("«)"-—a -—-a Az (3.:"/4"%&3 i Hop £ aco
[ 8
& A»z—?-a
wp . (:(x\"o D el =0 =) ,(Jrs—a (‘f‘:‘?" .-:.da.l-

b % bon. )
IR,
ffFa) s fo-Faeae Ao

We(% /,-.L_J) f5 alle a €R

~ . l’ 2-
Yy Ovlslimic  dw TIP: Y, ’/I—z—?—a wd K =Fa wl a>0

"- i ,“ —ﬁ%’

TP: 4lx)= A—{»X’ et XS0
i, Ovbslivie  HOP:  Alx) < A-%x} wit x<co

a-sz

~)ve

Ovis(dwic WP 33-/1———4 A | "3"" wi a€R

i
)
as 3”3 (L] 33 —/"—"l;)‘ s x"ll,

wix) = A= ¢} wit x€ R



& 5?/10,6’ L\)u.ghf-u.\(m‘e 8 b &H,r':r{d‘u. .’ a ={

¢ = ¢ al L
g‘k«/sJ ooy WuJ(‘leuJu w ((ga): 3-3- - da 74

m= -2 at
3
(§4/a-F5a}) sypeht G ye-Laly 4t

S W S R = Lol
A 5 34 3a+-£ = 4 /H-D.

et Torpeah (4&# duct  (0/0) , fls 4=0 =)

A

2‘_,:‘3=_/ = azz'—Z? = 4":-3\[2—1..':-3

Lo, WPCE-CN/a-foCY ) ailea/3) -]
HOP(5-(-3)) - 5-C3)) = (-1)5) o213
TIP(of1) 4 a,=-3

Ao d -1
4=:{{_3(x\4x = \

» [k 3esxtende
b \ |
e o e =
%“"K X3.L ,//
= (%-4-4) = (€-8-1) ?
R AR T AN A
L 1 ¢ ' /
S
Za8
= = ?
TS




